Balancing Chemical Equations

Balance the following chemical equations.

2y N+_ O,>_ NO,

_ KBr+Cl,—>__ KCl+Br,

P+ O, > P,0,

_ Al+_ NaOH-=>__ NaAlO,+__ H,
Si+ _ NaOH->Na/SiO,+__ H,

_ Cu+__ HNO,—>__ CulNO),+__ NO+ H,O
7zl MnO,+_ Al=>__ Mn+__ ALO,
_HgO%_Hg+O2

o] KMnO,->_ KO+___ MnO+___ O,
_ Al+Fe0,>_ Fe+ALO,

) AgCl=> _ Ag+Cl

_ NaCl+Ca(NO,,—> __ NaNO, + CaCl,
SrCO,+___ NH,Br => SrBr, + (NH,),CO,

CH,+_  0O0,>_ CO,+__ HO

Ca(OH), + H,PO, = Ca,(PO,), + H,0



Balancing Chemical Equations

Answers

2 N,+_5 0,>_2 N,

2 KBr+Cl,—> _ 2 KCl+Br,

4 P+ _3 0,>P0,

2 Al+_6 NaOH->_2 NaAlO,+_3 H

5] Si+__4 NaOH->NaSiO,+_ 2 H

2

3 Cu+_8 HNO,—~>_3 CulNO),+_ 2 NO+_4 HO

3 MnO,+_4 Al=>_3 Mn+_2 ALO,

[=]

2 HgO-> 2 Hg+O,

4 _KMnO,—> _2 KO+_4 MnO+_5 O,

_ 2 — —

2 Al+Fe,0,> 2 Fe+ALO,

2 AgCl—> _ 2 Ag+ClL

2 NaCl+Ca(NO,,—> _ 2 NaNO, + CaCl,

SrCO,+__ 2 NH,Br = SrBr, + (NH,),CO,

2 CH,+_13 0,>_8 CO,+_ 10 H0

4" 10 _—

_— 2

3 Ca(OH),+__2 H,PO,->CaPO),+_6 H,0
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